i A i & X Al S4B REERKAL AL E{f
¥ T4 TR I RikhE R G
& #
AN BN ( {5 L )
4 PR |G M OBIRSTE = S L 2 i I A /NF | 2
I [ EASERIEAT (BREA) HE2[A] 57 H 16440.0 | m2 W HLA
O | EASEHRIEAR (FREA]) 1A :3 A 8220.0 | m2 A W HLA
I |22 A A (% 1) 1A 6~TH 8220.0 | m2 W HLA
vV [ZhEie HFE2[A]:5-9 16440.0 | m2 W HLA
Vo [ZhEe HE2[E] 72 H 16440.0 | m2 A W HLA
XI5A 4E6[E]:5~10 1 49320.0 | m2 44 W HiAh
MEEETROM] FEOA] 5280.0 | m2 44 W HiAh
NIRE FolEl B EER 120 A
A M ONE B ELEEEEER 6.0 A
— SR R N MRS 1R FEEER 3.0 A
VI [T .ol =X No. 3 Hiffi 7 2 I
VI |2 H Licn 1290.0 | m2 W HLAT
VI (7R E Db 1.0 =X No.4 Hiffi 2 2
X |PNERE T o £E2[A] 1.0 =X No.5 Hiffi 7 2 i
X [FEASER(D) S BAFUN ~ AT R =N .ol =X No.6Hiffi % H
XI | CFEARRER(2) —8BAI N ~RaT R = 1.0 K No.7Hifi &2 MR

No.1




% i | Rk B % | W i 7N i L2

RE T 30.0 | m2 W HLA
EHEEE R

gt .ol =X
ST ER ALy E 14,000.0 | kg
eERp L5y # HEYS AL 12| m3
ZEREAmHE

TH 2 BiAH 4 A 10.0| %
AL TR

No.2




% PR | Rk B % | W i 7N 1

BIAREERBE

FayFI/hy 20KDHH 20.0] A W HLA
NARXTAT % 108D 10.0 & W HLA
NARXTAT % FHRERAIA : 25m2 25.0] m2 W HLA
Y 1ERDH B 11.0] & B BT
< 5ARDIL 5.0/ & W HLA
H7 53KDHH 9.0 & A W HLA
DAt 35AKNDHL 10.0| A& s EAT
7t

No.3




4 TS B || oW o[ o 3 o=
75K RN
R T A
e A
AN AN 4.0| m3
it

No.4




4 i b TR~ B %% M | HEOE NF fid G2
NEFRIEE R
EEIEER A
AN/ =¥ S = Wyl &
s LA ¢ 3.0 m3
&t

No.b




4 4

\mn

il 23

KFEAGER(1)

ik B

1 [ T

STl (e =]

TR H R

7' =5 12m

Witk

Iv— BB Ty ) ER

Wofilt & 1t

2th7y Gk

Witk

PRARAE L S

1.0

gl |z |z~~~

i

No.6




AR H M R S

i
%{5

e PR AT |7 /NI R

XFEALER2)

ik B

& T

STl (e =]

AT EE B E R 7 =5 12m LN g

2th7 97 E Bk Wofit

10 e ) el D S P

PRABCR RS 1.0

i

No.7



